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1. Which of the following is/ are true regarding

Missile Technology Control Regime(MTCR)?

1. MTCR will benefit India's space

programme.

2. China is not a member of MTCR.

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

2. The third treaty of Geneva Convention was

applied to:

(A) Wounded soldiers

(B) Medical personnel

(C) Prisoner of war

(D) About hostages

3. Who has written the book "On War"?

(A) Carl von Clausewitz

(B) Geoffrey Parker

(C) Michael Roberts

(D) None of the above

4. Who is most affected and suffered during

the war?

(A) Women

(B) Children

(C) Doctors

(D) None of the above

5. How many human lives were lost during the

Second World War?

(A) Forty Million

(B) Sixty Million

(C) Eighty Million

(D) Fifty Million

1. felkby izkS|ksfxdh fu;a=.k O;oLFkk ¼,eVhlhvkj½ ds
laca/k esa fuEufyf[kr esa ls dkSu&lk@ls lR; gS@gSa\

1. ,eVhlhvkj ls Hkkjr ds varfj{k
dk;ZØe dks Qk;nk gksxkA

2. phu ,eVhlhvkj dk lnL; ugha gSA

(A) dsoy 1

(B) dsoy 2

(C) nksuksa 1 rFkk 2

(D) u rks 1 vkSj u gh 2

2. ftusok dUosa'ku dh rhljh laf/k fdlds fy,
ykxw dh xbZ Fkh\

(A) ?kk;y lSfud

(B) fpfdRlk dkfeZd

(C) ;q) canh

(D) ca/kdksa ds ckjs esa

3. ^^vkWu okj** iqLrd fdlus fy[kh gS\

(A) dkyZ okWu DykWmt+foV~t+

(B) tsÝh ikdZj

(C) ekbdy jkWcV~Zl

(D) mijksDr esa ls dksbZ ugha

4. ;q) ds nkSjku lcls vf/kd izHkkfor vkSj
ihfM+r dkSu gSa\

(A) L=h

(B) cPps

(C) MkWDVj

(D) mijksDr esa ls dksbZ ugha

5. f}rh; fo'o ;q) ds nkSjku fdrus yksxksa dk
thou x;k\

(A) pkyhl fefy;u

(B) lkB fefy;u

(C) vLlh fefy;u

(D) ipkl fefy;u

[P.T.O.]
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6. UN us UNAEC ¼la;qDr jk"Vª ijek.kq ÅtkZ
vk;ksx½ dh LFkkiuk dc dh\
(A) 1946

(B) 1978

(C) 1980

(D) 1976

7. vizSy] 1949 esa] mÙkjh vVykafVd laf/k laxBu
¼ukVks½ ij fdlds }kjk gLrk{kj fd, x, Fks\
(A) dukMk] vesfjdk vkSj if'peh ;wjksih;

jkT;
(B) xzhl] vesfjdk vkSj if'peh ;wjksih;

jkT;
(C) rqdhZ] vesfjdk vkSj if'peh ;wjksih;

jkT;
(D) ;w,l] ;w,l,lvkj vkSj if'peh

;wjksih; jkT;
8. fo'o bfrgkl esa 1815 vkSj 1914 ds chp dh

vof/k dks fdldk dky dgk tkrk gS\
(A) vkSifuosf'kd opZLo
(B) iSDl fczVkfudk
(C) izf'k;k jkbt
(D) mijksDr esas ls dksbZ ugha

9. buesa ls dkSu vk/kqfud jkT; dh fo'ks"krk ugha
gS\
(A) laizHkqrk
(B) jk"Vªokn
(C) lkewfgd lqj{kk
(D) mijksDr esa ls dksbZ ugha

10. ^^dwVuhfr 'kkafriw.kZ ek/;eksa ls jk"Vªh; fgrksa
dks c<+kok nsuk gSA** ;g fdlus dgk Fkk\
(A) tkWulu
(B) eksxsZaFkkÅ
(C) jkbV
(D) mijksDr esa ls dksbZ ugha

6. The UN founded the UNAEC (United Nations

Atomic Energy Commission) in:

(A) 1946

(B) 1978

(C) 1980

(D) 1976

7. In April, 1949, the North Atlantic Treaty

Organization (NATO) was signed by:

(A) Canada, US and Western European

states

(B) Greece, US and Western European

states

(C) Turkey, US and Western European

states

(D) US, USSR and Western European

states

8. The period between 1815 to 1914 in world

history is called the period of:

(A) Colonial Supremacy

(B) Pax Britannica

(C) Prussian Rise

(D) None of the above

9. Which among these is not a feature of

modern state?

(A) Sovereignty

(B) Nationalism

(C) Collective security

(D) None of the above

10. "Diplomacy is the promotion of the national

interests by peaceful means." Who said this?

(A) Johnson

(B) Morgenthau

(C) Wright

(D) None of the above
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11. Vietnam War, Korean War, Arab-Israeli War,

Soviet-Afghan War are examples of :

(A) Nuclear war

(B) Direct war

(C) Proxy war

(D) Indirect war

12. Collapse of the _____ was the symbolic end

to the Cold War.

(A) Fall of Soviet Union

(B) Fall of Berlin Wall

(C) Collapse of Yugoslavia

(D) Fall of Russia

13. Which article of the Universal declaration of

the Human Rights states that "Everyone has

the right to a nationality?

(A) Article 12

(B) Article 16

(C) Article 14

(D) Article 15

14. Which among these is a true statement?

1. Citizenship is focused on the internal

political life of the state and nationality

is a matter of international law.

2. The rights and duties of nationals

do not vary from state to state.

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

15. When a single person has a formal

relationship with two separate sovereign

states, it is called:

(A) Dual Ethnicity

(B) Dual Nationality

(C) Dual Identity

(D) None of the above

11. fo;ruke ;q)] dksfj;kbZ ;q)] vjc&btjkby
;q)] lksfo;r&vQxku ;q) fdlds mnkgj.k gSa\
(A) ijek.kq ;q)
(B) izR;{k ;q)
(C) izkWDlh ;q)
(D) vizR;{k ;q)

12. ---------- dk iru 'khr ;q) dk izrhdkRed
var FkkA
(A) lksfo;r la?k dk iru
(B) cfyZu dh nhokj dk fxjuk
(C) ;wxksLykfo;k dk iru
(D) :l dk iru

13. ekuo vf/kdkjksa dh lkoZHkkSe ?kks"k.kk ds fdl
vuqPNsn esa dgk x;k gS fd ̂ ^lHkh dks jk"Vªh;rk
dk vf/kdkj gS**\
(A) vuqPNsn 12

(B) vuqPNsn 16

(C) vuqPNsn 14

(D) vuqPNsn 15

14. buesa ls dkSu&lk ,d lR; dFku gS\
1. ukxfjdrk jkT; ds vkarfjd jktuhfrd

thou ij dsafnzr gS vkSj jk"Vªh;rk
varjkZ"Vªh; dkuwu dk ekeyk gSA

2. ukxfjdksa ds vf/kdkj vkSj drZO; ,d
jkT; ls nwljs jkT; essa fHkUu ugha gksrs gSaA

(A) dsoy 1

(B) dsoy 2

(C) nksuksa 1 vkSj 2

(D) u rks 1 vkSj u gh 2

15. tc ,d O;fDr dk nks vyx&vyx laizHkq
jkT;ksa ds lkFk vkSipkfjd laca/k gksrk gS rks
bls ------ dgk tkrk gSA
(A) nksgjh tkrh;rk
(B) nksgjh jk"Vªh;rk
(C) nksgjh igpku
(D) mijksDr esa ls dksbZ ugha

[P.T.O.]
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16. Which of the following organizations are part

of the UN system?

(A) G7

(B) WTO

(C) IMF

(D) OPEC

17. Which international historic treaty is used

to present international political

system?

(A) Treaty of Versailles, 1919

(B) Treaty of Westphalia, 1648

(C) Charter of Paris, 1990

(D) Congress of Vienna, 1815

18. Who was the main user of Veto in the UN?

(A) China

(B) Germany

(C) United States

(D) France

19. Colombo Declaration is related to:

(A) Anti-drug trafficking

(B) Economic interests

(C) Infrastructure development

(D) Marine security

20. India signed its first strategic partnership

with:

(A) Japan

(B) U.S.

(C) France

(D) Russia

16. fuEufyf[kr esa ls dkSu&ls laxBu la;qDr jk"Vª
iz.kkyh dk fgLlk gSa\

(A) th7

(B) fo'o O;kikj laxBu

(C) vkbZ,e,Q

(D) vksisd

17. varjkZ"Vªh; jktuhfrd O;oLFkk dks izLrqr djus
ds fy, fdl varjkZ"Vªh; ,sfrgkfld laf/k dk
iz;ksx fd;k tkrk gS\

(A) olkZ; dh laf/k] 1919

(B) osLVQsfy;k dh laf/k] 1648

(C) isfjl dk pkVZj] 1990

(D) fo,uk dh dkaxzsl] 1815

18. la;qDr jk"Vª esa ohVks dk eq[; mi;ksxdrkZ dkSu Fkk\

(A) phu

(B) teZuh

(C) la;qDr jkT; vesfjdk

(D) Ýkal

19. dksyacks ?kks"k.kk fdlls lacaf/kr gS\

(A) u'kk rLdjh

(B) vkfFkZd fgr

(C) cqfu;knh <kaps dk fodkl

(D) leqnzh lqj{kk

20. Hkkjr us fdlds lkFk viuh igyh j.kuhfrd
lk>snkjh ij gLrk{kj fd,\

(A) tkiku

(B) ;w-,l-

(C) Ýkal

(D) :l
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21. Which among these statements is true?

1. Armaments are the result of certain

psychological factors.

2. The superpowers have achieved

the maximum limit in armament.

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

22. Who stated that international law is not true

law but only positive international morality?

(A) Bentham

(B) Austin

(C) Morgenthau

(D) Waltz

23. Which law formed a complete and general

code of dealings "the jus gentium"?

(A) English Law

(B) Roman Law

(C) Greek Law

(D) None of the above

24. Which among these is a true statement?

1. There is a definite agency to enforce

state laws.

2. There is no central executive for the

enforcement of international law.

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

25. International relations as an independent

discipline and theory were not developed until:

(A) World War II

(B) World War I

(C) Cold War

(D) Korean War

21. buesa ls dkSu&lk dFku lR; gS\
1. 'kL=hdj.k dqN euksoSKkfud dkjdksa

ds ifj.kke gSaA
2. egk'kfDr;k s a us 'kL=hdj.k es a

vf/kdre lhek gkfly dj yh gSA
(A) dsoy 1

(B) dsoy 2

(C) nksuksa 1 rFkk 2

(D) u rks 1 vkSj u gh 2

22. fdlus dgk fd varjkZ"Vªh; dkuwu lPpk dkuwu ugha
gS cfYd dsoy ldkjkRed varjkZ"Vªh; uSfrdrk gS\
(A) csaFke
(B) vkWfLVu
(C) eksxsZaFkkÅ
(D) okYV~t

23. fdl dkuwu us ̂ ^tl tsafV;e** ds O;ogkj dk
,d iw.kZ vkSj lkekU; dksM cuk;k\
(A) vaxzsth dkuwu
(B) jkseu dkuwu
(C) xzhd dkuwu
(D) mijksDr esa ls dksbZ ugha

24. buesa ls dkSu&lk ,d lR; dFku gS\
1. jkT; ds dkuwuksa dks ykxw djus ds

fy, ,d fuf'pr ,tsalh gSA
2. varjkZ"Vªh; dkuwu ds izorZu ds fy,

dksbZ dsanzh; dk;Zikfydk ugha gSA
(A) dsoy 1

(B) dsoy 2

(C) nksuksa 1 vkSj 2

(D) u rks 1 vkSj u gh 2

25. ,d Lora= vuq'kklu vkSj fl)kUr ds :i esa
varjkZ"Vªh; laca/k dc rd fodflr ugha gq, Fks\
(A) f}rh; fo'o ;q)
(B) izFke fo'o ;q)
(C) 'khr ;q)
(D) dksfj;kbZ ;q)
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26. Complete cessation of the nuclear testing

is the sole aim of:

(A) SALT I

(B) SALT II

(C) CTBT

(D) NPT

27. Diplomacy means :

(A) Ways to start international business

(B) Method of international trade

(C) Means of waging war

(D) Method of negotiation

28. Vajra Prahar, a defence exercise between

US and India which is related to:

(A) Tri-services

(B) Air Force

(C) Navy

(D) Military Special Forces

29. The 'Bay of Pigs Invasion' is related to which

of the following countries?

(A) Afghanistan

(B) Iraq

(C) Cuba

(D) Vietnam

30. Who described public opinion as containing

both truth and falsehood and added that it

was the task of the great man to distinguish

between the two?

(A) Bentham

(B) Hegel

(C) Locke

(D) None of the above

26. ijek.kq ijh{k.k dks iw.kZ :i ls can djuk
fdldk ,dek= mÌs'; gS\

(A) SALT I

(B) SALT II

(C) CTBT

(D) NPT

27. dwVuhfr dk vFkZ gS%

(A) varjkZ"Vªh; O;kikj 'kq# djus ds rjhds

(B) varjkZ"Vªh; O;kikj dh fof/k

(C) ;q) NsM+us ds lk/ku

(D) ckrphr dh fof/k

28. otz izgkj] vesfjdk vkSj Hkkjr ds chp ,d
j{kk vH;kl gS] tks ls lacaf/kr gS%

(A) Vªkb lsfoZll ls

(B) ok;q lsuk ls

(C) ukSlsuk ls

(D) lSU; fo'ks"k cy ls

29. ^cs vkWQ fiXl vkØe.k* fuEufyf[kr esa ls fdl
ns'k ls lacaf/kr gS\

(A) vQxkfuLrku

(B) bjkd

(C) D;wck

(D) fo;ruke

30. fdlus tuer dk s lR; vkSj vlR;
nksuksa ls ;qDr crk;k vkSj dgk fd bu
nksuksa esa varj djuk egkiq#"k dk dk;Z
Fkk\

(A) csaFke

(B) ghxy

(C) ykWd

(D) mijksDr esa ls dksbZ ugha



10015-B/600 (  9  )

31. Which of these is correctly matched?

(A) Fukuyama : Bananas, Beaches and

Bases

(B) Enloe C. : The End of History and

the Last Man.

(C) Levy J.S. : Theories of General War

(D) Morgenthau H.J. : The Spirit of the

Laws

32. Which among the following is not related to

disarmament?

(A) SALT

(B) NPT

(C) CTBT

(D) CENTO

33. The League of Nations convened first world

disarmament conference in :

(A) 1925

(B) 1932

(C) 1945

(D) 1980

34. The Nuclear Non-Proliferation Treaty was

signed in :

(A) 1962

(B) 1968

(C) 1965

(D) 1966

35. Which among these statements is true?

1. SALT I and SALT II signed between

the USA and France.

2. It is Strategic Armed Limitation

Treaty.

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

31. buesa ls dkSu lgh esy gS\
(A) Qqdq;kek % cukukl] chpl ,aM csl
(B) ,uyks lh % n ,aM vkWQ fgLVªh ,aM n

ykLV eSu
(C) ysoh ts-,l % F;ksjhl vkWQ tujy

okj
(D) eksxsZaFkkÅ ,p-ts- % n fLifjV vkWQ n

YkkWt+
32. fuEufyf[kr esa ls dkSu fu%'kL=hdj.k ls

lacaf/kr ugha gS\
(A) SALT

(B) NPT

(C) CTBT

(D) CENTO

33. jk"Vª la?k us izFke fo'o fu%'kL=hdj.k lEesyu
dc vk;ksftr fd;k\
(A) 1925

(B) 1932

(C) 1945

(D) 1980

34. ijek.kq vizlkj laf/k ij dc gLrk{kj fd,
x, Fks\
(A) 1962

(B) 1968

(C) 1965

(D) 1966

35. buesa ls dkSu&lk dFku lR; gS\
1. la;qDr jkT; vesfjdk vkSj Ýkal ds

chp SALT I vkSj SALT II ij
gLrk{kj fd, x,A

2. ;g lkefjd l'kL= lhek laf/k gSA
(A) dsoy 1

(B) dsoy 2

(C) nksuksa 1 rFkk 2

(D) u rks 1 vkSj u gh 2

[P.T.O.]
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36. dwVuhfr fdlds }kjk dk;Z ugha djrh\
(A) fons'k dk;kZy;
(B) nwrkokl
(C) okf.kT; nwrkokl
(D) x̀g dk;kZy;

37. buesa ls dkSu&lk dFku lR; gS\
1. jktuf;dksa dks izR;{k djksa] lhek 'kqYd

ls NwV izkIr gSA
2. mUg s a n hokuh vk Sj Qk Stnkjh

{ks=kf/kdkj ls NwV izkIr gSA
(A) dsoy 1

(B) dsoy 2

(C) nksuksa 1 vkSj 2

(D) u rks 1 vkSj u gh 2

38. ^^dsoy 'kfDr gh 'kfDr dks lhfer dj ldrh
gS]** ;g dFku fdlds lkFk tqM+k gqvk gS\
(A) lkewfgd lqj{kk
(B) fu%'kL=hdj.k
(C) 'kfDr larqyu
(D) mijksDr esa ls dksbZ ugha

39. ^^lqj{kk ifj"kn 'kkafr ds fy, fdlh Hkh [krjs]
'kkafr Hkax] ;k vkØkedrk ds dk;Z ds vfLrRo
dk fu/kkZj.k djsxh** ;w,u pkVZj ds fdl ys[k
esa mn~/k̀r fd;k x;k gS\
(A) 39

(B) 41

(C) 42

(D) mijksDr esa ls dksbZ ugha
40. buesa ls dkSu la;qDr jk"Vª pkVZj }kjk iznÙk

fooknksa ds 'kkafriw.kZ lek/kku dk rjhdk ugha
gS\
(A) lqyg
(B) ckrphr
(C) 'kkafriw.kZ ;q)
(D) e/;LFkrk

36. Diplomacy does not work through:

(A) Foreign office

(B) Embassies

(C) Consulate

(D) Home office

37. Which among these statements is true?

1. Diplomats enjoy exemption from

direct taxes, customs duties.

2. They enjoy exemption from civil and

criminal jurisdiction.

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

38. "The power alone can limit power," this

premise is associated with:

(A) Collective security

(B) Disarmament

(C) Balance of power

(D) None of the above

39. "The Security Council shall determine the

existence of any threat to the peace, breach

of the peace, or act of aggression" is quoted

in which article of U.N. Charter?

(A) 39

(B) 41

(C) 42

(D) None of the above

40. Which among these is not a method of

peaceful settlement of disputes provided

by the UN Charter?

(A) Conciliation

(B) Negotiations

(C) Peaceful war

(D) Mediation
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41. International public opinion is not shaped by:

(A) Mass Media

(B) Leadership

(C) Democracy

(D) Environment

42. One of the major sources and sanctions of

international law are:

(A) International Public Opinion

(B) International Leadership

(C) International Morality

(D) None of the above

43. Which among these is not one of the

elements of International Morality?

(A) Protection of Human Life in Peace

(B) Protection of Human Life in War

(C) Non-Condemnation of War

(D) None of the above

44. Which one of these examples best

illustrates balance of power theory?

1. France agrees to drop sanctions on

China in exchange for access to a

naval base in the South China sea.

2. Russia buys $25 billion in new

military airplanes, so the United

States buys $20 billion of anti-aircraft

weapons

(A) Only 1

(B)  Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

45. In Kenneth Waltz's theory, the main cause

of war at the system level is what?

(A) Communism

(B) International anarchy

(C) International Corruption

(D) Immoral Leaders

41. varjkZ"Vªh; tuer fdlds }kjk fu/kkZfjr ugha gksrk gS\
(A) ekWl ehfM;k
(B) usr̀Ro
(C) yksdra=
(D) i;kZoj.k

42. varjkZ"Vªh; dkuwu ds izeq[k lzksrksa vkSj
izfrca/kksa esa ls ----- ,d gSA
(A) varjkZ"Vªh; tuer
(B) varjkZ"Vªh; usrR̀o
(C) varjkZ"Vªh; uSfrdrk
(D) mijksDr esa ls dksbZ ugha

43. buesa ls dkSu varjkZ"Vªh; uSfrdrk ds rRoksa esa
ls ,d ugha gS\
(A) 'kkafr esa ekuo thou dh lqj{kk
(B) ;q) esa ekuo thou dh lqj{kk
(C) ;q) dh fuank u djuk
(D) mijksDr esa ls dksbZ ugha

44. buesa ls dkSu&lk mnkgj.k 'kfDr larqyu
fl)kUr dks loksZRre :i ls n'kkZrk gS\
1. Ýkal nf{k.k phu lkxj esa ,d ukSlSfud

vM~Ms ds cnys phu ij izfrca/k gVkus
ds fy, lger gSA

2. :l u, lSU; gokbZ tgktksa dks $25

esa fcfy;u [kjhnrk gS] blfy, la;qDr
jkT; vesfjdk $20 fcfy;u ,aVh&
,;jØk¶V gfFk;kj [kjhnrk gSA

(A) dsoy 1

(B) dsoy 2

(C) nksuks 1 vkSj 2

(D) u rks 1 vkSj u gh 2

45. dsusFk okYV~t ds fl)kUr esa O;oLFkk Lrj ij
;q) dk eq[; dkj.k D;k gS\
(A) lkE;okn
(B) varjkZ"Vªh; vjktdrk
(C) varjkZ"Vªh; Hkz"Vkpkj
(D) vuSfrd usrk

[P.T.O.]
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46. Which among these statements is true?

1. International humanitarian law works

to limit the effects of war.

2. It protects the people who do not

participate in war hostilities.

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

47. Who defined "war" as large-scale

organized violence between political units?

(A) Levy

(B) Holsti

(C) Waltz

(D) None of the above

48. Who stated that the fundamental cause of

war is the anarchic structure of the

international system?

(A) Kenneth Waltz

(B) Rosenau

(C) Morgenthau

(D) None of the above

49. Balance of power theory is more concerned

with:

(A) Instability of system

(B) Making coalitions

(C) Avoidance of hegemony

(D) None of the above

50. Capitalist economic systems and the free

exchange of goods in an international

market economy are the best guarantors

of peace. Who said this?

(A) Smith and Ricardo

(B) Morgenthau

(C) Huntington

(D) None of the above

46. buesa ls dkSu&lk dFku lR; gS\
1. varjkZ"Vªh; ekuoh; dkuwu ;q) ds izHkkoksa

dks lhfer djus dk dke djrk gSA
2. ;g mu yksxksa dh j{kk djrk gS tks

;q) esa Hkkx ugha ysrs gSaA
(A) dsoy 1

(B) dsoy 2

(C) nksuksa 1 rFkk 2

(D) u rks 1 vkSj u gh 2

47. fdlus ̂ ^;q)** dks jktuhfrd bdkb;ksa ds chp cM+s
iSekus ij laxfBr fgalk ds :i esa ifjHkkf"kr fd;k\
(A) ysoh
(B) gksYLVh
(C) okYV~t
(D) mijksDr esa ls dksbZ ugha

48. fdlus dgk fd ;q) dk ewy dkj.k varjkZ"Vªh;
O;oLFkk dh vjktd lajpuk gS\

(A) dsusFk okYV~t

(B) jkslsukS

(C) eksxksZaFkkÅ

(D) mijksDr esa ls dksbZ ugha
49. 'kfDr larqyu fl)kUr dk laca/k fdlls

vf/kd gS\
(A) lajpuk dh vfLFkjrk
(B) xBca/ku cukuk
(C) vkf/kiR; ls cpko
(D) mijksDr esa ls dksbZ ugha

50. iwathoknh vkfFkZd O;oLFkk,a vkSj vUrjkZ"Vªh;
vFkZO;oLFkk esa cktkj dk eky dk eqDr
fofue; 'kkafr ds loksZÙke xkjaVj gSa] ;g
fdlus dgk\
(A) fLeFk vkSj fjdkMksZ
(B) eksxsZaFkkÅ
(C) gafVaxVu
(D) mijksDr esa ls dksbZ ugha
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51. Which international crisis among these is an

example of the application of collective

security principle in international politics?

(A) The Gulf war

(B) The Syrian crisis

(C) The Afghanistan crisis

(D) None of the above

52. "The meaning of national interest is

survival—the protection of physical, political

and cultural identity against encroachments

by other nation-states" who said this?

(A) V.V. Dyke

(B) Max Weber

(C) Morgenthau

(D) None of the above

53. Which among these is not a method of

securing national interest?

(A) Diplomacy

(B) Propaganda

(C) Alliances

(D) None of the above

54. Intervention, embargoes, boycotts, reprisals

are examples of :

(A) Peaceful means

(B) Non-coercive means

(C) Coercive means

(D) None of the above

55. In the interest of international peace, security and

prosperity, nations are expected to refrain from:

(A) Diplomatic means

(B) Alliances

(C) Wars

(D) None of the above

51. buesa ls dkSu&lk varjkZ"Vªh; ladV] varjkZ"Vªh;
jktuhfr esa lkewfgd lqj{kk fl)kUr ds iz;ksx
dk ,d mnkgj.k gS\
(A) [kkM+h ;q)
(B) lhfj;kbZ ladV
(C) vQxkfuLrku ladV
(D) mijksDr esa ls dksbZ ugha

52. ^^jk"Vªh; fgr dk vFkZ vfLrRo gS&vU; jk"Vª&
jkT;ks a }kjk Hkk Sfrd] jktuhfrd vkSj
lkaL—frd igpku ls vfrØe.k ls lqj{kk**
;g fdlus dgk\
(A) oh-oh- Mkbd
(B) eSDl oscj
(C) eksxsZaFkkÅ
(D) mijksDr esa ls dksbZ ugha

53. buesa ls dkSu&lk jk"Vªh; fgr dks lqn<̀+ djus
dk rjhdk ugha gS\
(A) dwVuhfr
(B) izpkj
(C) xBca/ku
(D) mijksDr esa ls dksbZ ugha

54. gLr{ksi] izfrca/k] cfg"dkj] izfr'kks/k ------
ds mnkgj.k gSaA
(A) 'kkafriw.kZ lk/ku
(B) fuckZ/; lk/ku
(C) ck/;dkjh lk/ku
(D) mijksDr esa ls dksbZ ugha

55. jk"Vªksa dks varjkZ"Vªh; 'kkafr] lqj{kk vkSj lèf)
ds fy,] fdlls nwj jguk pkfg,\
(A) jktuf;d lk/ku
(B) xBca/ku
(C) ;q)
(D) mijksDr esa ls dksbZ ugha

[P.T.O.]
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56. Who defined international relations as

"relations between groups of major

importance in the life of the world at any

period of history"?

(A) Morgenthau

(B) Quincy Wright

(C) Charles Schleicher

(D) None of the above

57. International relations comprise of:

(A) International Organization

(B) Transnational Organization

(C) Supranational Organization

(D) All of the above

58. Who is considered as primary actor in

international politics?

(A) Communities

(B) Society

(C) Nation state

(D) None of the above

59. "Politics Among Nations" is written

by:

(A) Morgenthau

(B) James Rosenau

(C) Schleicher

(D) None of the above

60. International Relations is the study of:

(A) Relations among states

(B) Relations among individuals

(C) Relations among citizens of a state

(D) None of the above

56. varjkZ"Vªh; laca/kksa dks ̂ ^fo'o bfrgkl ds fdlh
Hkh dky es a i ze q[k lewgk s a ds chp
laca/k** ds :i es a fdlus ifjHkkf"kr
fd;k\

(A) eksxsZaFkkÅ

(B) fDoalh jkbV

(C) pkYlZ 'yhpj

(D) mijksDr esa ls dksbZ ugha

57. varjkZ"Vªh; laca/kksa esa D;k 'kkfey gSa\

(A) varjkZ"Vªh; laxBu

(B) Vªkalus'kuy laxBu

(C) lqijkus'kuy laxBu

(D) mijksDr lHkh

58. varjkZ"Vªh; jktuhfr esa izkFkfed vfHkusrk ds
:i esa fdls ekuk tkrk gS\

(A) leqnk;

(B) lekt

(C) jk"Vª jkT;

(D) mijksDr esa ls dksbZ ugha

59. ^^ikWfyfVDl veax us'kal** fdlds }kjk fy[kh
xbZ gS\

(A) eksxsZaFkkÅ

(B) tsEl jkslsukS

(C) 'yhpj

(D) mijksDr esa ls dksbZ ugha

60. varjkZ"Vªh; laca/k dk v/;;u gS%

(A) jkT;ksa ds chp laca/k

(B) O;fDr;ksa ds chp laca/k

(C) jkT; ds ukxfjdksa ds chp laca/k

(D) mijksDr esa ls dksbZ ugha
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61. This organization, formed in 1949 is a military

alliance among various North American and

European states:

(A) SEATO

(B) CENTO

(C) NATO

(D) OECD

62. The 'natural law' perspective on international

law is mainly associated with ____ IR theory.

(A) Realism

(B) Liberalism

(C) Marxian

(D) Critical theory

63. The chief court of the UN is:

(A) International Criminal Court (ICC)

(B) Permanent Court of International

Justice (PCIJ)

(C) International Court of Justice (ICJ)

(D) European Court of Justice (ECJ)

64. Why was the Nuclear Non-Proliferation

Treaty signed?

(A) To disarm country with nuclear

weapons

(B) To prevent spread of nuclear

weapons

(C) To regulate the nuclear power for

energy

(D) To make nuclear power abled to every

nation

65. The United Nations is concerned with:

(A) Mainly economic issues

(B) Mainly international cooperation

issues

(C) Mainly gender issues

(D) Mainly democratic issues

61. 1949 esa xfBr ;g laxBu fofHkUu mÙkjh
vesfjdh vkSj ;wjksih; jkT;ksa ds chp ,d
lSU; xBca/ku gS%
(A) lhVks
(B) lsaVksa
(C) ukVks
(D) vksbZlhMh

62. varjkZ"Vªh; dkuwu ij ^izk—frd dkuwu* dk
ǹf"Vdks.k eq[; :i ls ----- IR fl)kUr ls tqM+k gSA
(A) ;FkkFkZokn
(B) mnkjokn
(C) ekDlZokn
(D) fØfVdy F;ksjh

63. la;qDr jk"Vª dk eq[; U;k;ky; gS %
(A) varjkZ"Vªh; vkijkf/kd U;k;ky; (ICC)

(B) varjkZ"Vªh; U;k; dk LFkk;h U;k;ky;
(PCIJ)

(C) varjkZ"Vªh; U;k;ky; (ICJ)

(D) ;wjksih; U;k;ky; (ECJ)

64. ijek.kq vizlkj laf/k ij gLrk{kj D;ksa fd;k
x;k Fkk\
(A) ijek.kq gfFk;kjksa okys ns'k dks fu'kL=

djus ds fy,
(B) ijek.kq gfFk;kjksa ds izlkj dks jksdus

ds fy,
(C) ÅtkZ ds fy, ijek.kq ÅtkZ dks

fofu;fer djus ds fy,
(D) izR;sd jk"Vª dks ijek.kq 'kfDr lEiUu

cukus ds fy,
65. la;qDr jk"Vª dk laca/k ----- ls gSA

(A) eq[; :i ls vkfFkZd eqÌs
(B) eq[; :i ls varjkZ"Vªh; lg;ksx ds

eqÌs
(C) eq[; :i ls ySafxd eqÌs
(D) eq[; :i ls yksdrkaf=d eqÌs

[P.T.O.]
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66. Which is the first international organisations in

the world that was formed in London in 1864?

(A) Inter-Parliamentary Organization

(B) League of Nations

(C) International Workingmen's Association

(D) None of the above

67. The ideal of many internationalists is to create

____ through democratic globalization.

(A) Supranational governance

(B) World Government

(C) World Syndicate

(D) None of the above

68. What is defined as the theory and practice

of transnational or global cooperation?

(A) Socialism

(B) Idealism

(C) Internationalism

(D) None of the above

69. Whether a country has mountains, rivers or

plains refers to what power consideration?

(A) Location

(B) Geography

(C) Topography

(D) None of the above

70. Woodrow Wilson's call for a League of

Nations symbolizes the rise of:

(A) Bilateral Diplomacy

(B) Parliamentary Diplomacy

(C) Multilateral Diplomacy

(D) None of the above

66. 1864 esa yanu esa xfBr fo'o dk igyk
varjkZ"Vªh; laxBu dkSu&lk gS\

(A) varj&lalnh; laxBu

(B) jk"Vª la?k

(C) baVjus'kuy ofdZaxesUl ,lksfl,'ku

(D) mijksDr esa ls dksbZ ugha

67. vusd varjkZ"Vªh;okfn;ksa dk vkn'kZ yksdrkaf=d
oS'ohdj.k ds ek/;e ls ----dk fuekZ.k djuk gSA

(A) lqijkus'kuy xousZal

(B) fo'o ljdkj

(C) oYMZ flafMdsV

(D) mijksDr esa ls dksbZ ugha

68. varjkZ"Vªh; ;k oSf'od lg;ksx ds fl)kUr vkSj
O;ogkj ds :i esa D;k ifjHkkf"kr fd;k x;k gS\

(A) lektokn

(B) vkn'kZokn

(C) varjkZ"Vªh;okn

(D) mijksDr esa ls dksbZ ugha

69. fdlh ns'k esa igkM+] ufn;k¡ ;k eSnku gSa] ;g
fdl 'kfDr dks n'kkZrk gS\

(A) LFky

(B) Hkwxksy

(C) LFkyk—fr

(D) mijksDr esa ls dkbZ ugha

70. oqMjks foYlu dk jk"Vª la?k dk vkºoku fdlds
mn; dk izrhd gS\

(A) f}i{kh; dwVuhfr

(B) lalnh; dwVuhfr

(C) cgqi{kh; dwVuhfr

(D) mijksDr esa ls dksbZ ugha
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71. Which international political theory uses

words such as; war/conflict, mili tary,

sovereign nation states, human nature,

anarchy, perpetual fear, self-help?

(A) Idealism

(B) Liberalism

(C) Realism

(D) None of the above

72. When did the international politics became

a separate academic discipline?

(A) 1919

(B) 1945

(C) 1905

(D) None of the above

73. What among these is not an element of

international politics?

(A) National interest

(B) Conflict of interests

(C) Collective good

(D) None of the above

74. Which among the following statements is not true?

1. International relation is exhaustive

while international politics is narrow.

2. International relation is analytical

whereas international politics is

descriptive.

(A) Only 1

(B) Both are true

(C) Only 2

(D) Both are untrue

75. Who states that international politics is

strongly related to state system?

(A) Palmer and Perkins

(B) Quincy Wright

(C) Sprout

(D) Vincent Baker

71. dkSu&lk varjkZ"Vªh; jktuhfrd fl)kar(
;q)@la?k"kZ] lSU;] laizHkq jk"Vª jkT;] ekuo
LoHkko] vjktdrk] 'kk'or Hk;] Lo;a&lgk;rk
tSls 'kCnksa dk mi;ksx djrk gS\
(A) vkn'kZokn
(B) mnkjokn
(C) ;FkkFkZokn
(D) mijksDr esa ls dksbZ ugha

72. vUrjkZ"Vªh; jktuhfr ,d vyx v/;;u dk
fo"k; dc cuh\
(A) 1919

(B) 1945

(C) 1905

(D) mijksDr esa lsa dksbZ ugha
73. buesa ls D;k varjkZ"Vªh; jktuhfr dk ,d rRo

ugha gS\
(A) jk"Vªh; fgr
(B) fgrksa dk Vdjko
(C) lkewfgd fgr
(D) mijksDr esa lsa dksbZ ugha

74. fuEufyf[kr esa ls dkSu&lk dFku lR; ugha gS\
1. varjkZ"Vªh; laca/k O;kid gS tcfd

varjkZ"Vªh; jktuhfr ladh.kZ gSA
2. varjkZ"Vªh; laca/k fo'ys"k.kkRed gksrs

g S a tcfd varjkZ"Vªh; jktuhfr
o.kZukRed gksrh gSA

(A) dsoy 1

(B) nksuksa lR; gSa
(C) dsoy 2

(D) nksuksa vlR; gSa
75. dkSu dgrk gS fd varjkZ"Vªh; jktuhfr dk

jkT; O;oLFkk ls xgjk laca/k gS\
(A) ikej vkSj ifdZUl
(B) fDoalh jkbV
(C) LizkmV
(D) foUlsaV csdj

[P.T.O.]
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76. Which among these does not constitute an

element of national power?

(A) Psychological power

(B) Economic power

(C) Social power

(D) Military power

77. Who said, "Politics is the study of shaping

and sharing of power"?

(A) Lasswell

(B) Powell

(C) Morgenthau

(D) Jennings

78. Who said, "the government must realize that

it is the leader and not the slave of public

opinion; that public opinion is not a static

thing to be discovered"?

(A) Laski

(B) Palmer

(C) Morgenthau

(D) Lasswell

79. Which among these statements is not true?

1. National Power varies nation to nation.

2. It is dynamic in nature.

(A) Only 1

(B) Only 2

(C) Both are true

(D) Both are untrue

80. Which among these is not an instrument to

increase national power?

(A) Reward

(B) Persuasion

(C) Manipulation

(D) None of the above

76. buesa ls dkSu jk"Vªh; 'kfDr dk rRo ugha
gSa\
(A) euksoSKkfud 'kfDr
(B) vkfFkZd 'kfDr
(C) lkekftd 'kfDr
(D) lSU; 'kfDr

77. fdlus dgk] ^^jktuhfr] 'kfDr dks vkdkj
nsus vkSj lk>k djus dk v/;;u gS**\
(A) ykWlosy
(B) ikWosy
(C) eksxsZaFkkÅ
(D) tsfuaXl

78. fdlus dgk] ^^ljdkj dks ;g eglwl djuk
pkfg, fd og usrk gS u fd tuer dh nklh%
turk dh jk; [kksth tkus okyh fLFkj pht
ugha gS**\
(A) ykLdh
(B) ikej
(C) eksxsZaFkkÅ
(D) ykWlosy

79. buesa ls dkSu&lk dFku lR; ugha gS\
1. jk"Vªh; 'kfDr jk"Vª nj jk"Vª cnyrh gSA
2. ;g iz—fr esa xfr'khy gSA
(A) dsoy 1

(B) dsoy 2

(C) nksuksa lR; gSa
(D) nksuksa vlR; gSa

80. buesa ls dkSu jk"Vªh; 'kfDr dks c<+kus dk
lk/ku ugha gS\
(A) iqjLdkj
(B) vuqu;
(C) tksM+&rksM+
(D) mijksDr esa ls dksbZ ugha
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81. _____ is a set of ideas that seeks to explain

some or all aspects of reality, lays down

values and preferences in respect of both

ends and means, and includes a programme

of action for the attainment of the defined

ends.

(A) National Interest

(B) Ideology

(C) International Treaty

(D) None of the above

82. The concept of Nationalism didn't emerge

until:

(A) Fourteenth Century

(B) Sixteenth Century

(C) Seventeenth Century

(D) Nineteenth Century

83. Which gives primary to the economic factors

of social relations and regards them as the

determinants of all behavioural-social,

political, cultural etc.?

(A) Liberalism

(B) Communism

(C) Realism

(D) None of the above

84. Which is considered as an ideological war?

(A) First World War

(B) Second World War

(C) Cold War

(D) None of the above

85. Which among these is not among

Morgenthau's three typical ideologies of the

foreign policy?

(A) Ideology of Imperialism

(B) Ideology of Status quo

(C) Ideology of War

(D) Ideology of Peace

81. ----- fopkjksa dk ,d lewg gS tks okLrfodrk ds
dqN ;k lHkh igyqvksa dh O;k[;k djus dk iz;kl
djrk gS] nksuksa lk/; vkSj lk/kuksa ds laca/k esa
ewY;ksa vkSj ojh;rkvksa dks fu/kkZfjr djrk gS] vkSj
ifjHkkf"kr y{; dh izkfIr ds fy, dkjZokbZ dk
,d dk;ZØe 'kkfey djrk gSA
(A) jk"Vªh; fgr
(B) fopkj/kkjk
(C) varjkZ"Vªh; laf/k
(D) mijksDr esa ls dksbZ ugha

82. jk"Vªokn dh vo/kkj.kk fdl lnh rd ugha
mHkjh Fkh\
(A) pkSngoha 'krkCnh
(B) lksygoha 'krkCnh
(C) l=goha 'krkCnh
(D) mUuhloha 'krkCnh

83. dkSu lkekftd laca/kksa ds vkfFkZd dkjdksa dks
iz/kkurk nsrk gS vkSj mUgsa lHkh O;ogkfjd
&lkekftd] jktuhfrd] lkaL—frd vkfn ds
fu/kkZjd ds :i esa ekurk gS\
(A) mnkjokn
(B) lkE;okn
(C) ;FkkFkZokn
(D) mijksDr esa ls dksbZ ugha

84. fdls ,d oSpkfjd ;q) ekuk tkrk gS\
(A) izFke fo'o ;q)
(B) f}rh; fo'o ;q)
(C) 'khr ;q)
(D) mijksDr esa ls dksbZ ugha

85. buesa ls dkSu eksxsZ aFkkÅ dh fons'k uhfr
dh rhu fof'k"V fopkj/kkjkvksa esa ls ugha
gS\
(A) lkezkT;okn dh fopkj/kkjk
(B) ;FkkfLFkfr dh fopkj/kkjk
(C) ;q) dh fopkj/kkjk
(D) 'kkafr dh fopkj/kkjk
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86. Find the correct match of the following :

(a) NATO 1. Regional Organization

(b) UNO 2. Economic Organization

(c) WTO 3. Political Organization

(d) ASEAN 4. Military Organization

Code : (a) (b) (c) (d)

(A) 4  3  2  1

(B) 2  1  3  4

(C) 3  2  4  1

(D) 1  2  3  4

87. What is the purpose of the study of

international politics?

(A) For finding solutions to the

international problems

(B) For maintaining World Peace

(C) For understanding foreign policies

(D) All of the above

88. One of the famous idealist theorists in

international politics is:

(A) Morgenthau

(B) Waltz

(C) Wilson

(D) None of the above

89. Which was the first major crisis which led to

the emergence of international politics as a

discipline?

(A) French revolution

(B) Bolshevik revolution

(C) First world war

(D) None of the above

90. What among these are methods of balance

of power?

(A) Alliances

(B) Counter-alliances

(C) Armament

(D) All of the above

86. lgh feyku dhft, %
(a) NATO 1. {ks=h; laxBu
(b) UNO 2. vkfFkZd laxBu
(c) WTO 3. jktuhfrd laxBu
(d) ASEAN 4. lSU; laxBu
dwV : (a) (b) (c) (d)

(A) 4 3 2 1

(B) 2 1 3 4

(C) 3 2 4 1

(D) 1 2 3 4

87. varjkZ"Vªh; jktuhfr ds v/;;u dk mÌs';
D;k gS\
(A) varjkZ"Vªh; leL;kvksa dk lek/kku

[kkstus ds fy,
(B) fo'o 'kkafr cuk, j[kus ds fy,
(C) fons'k uhfr;ksa dks le>us ds fy,
(D) mijksDr lHkh

88. fuEu esa ls dkSu varjkZ"Vªh; jktuhfr esa izfl)
vkn'kZoknh fl)kardkjksa esa ls ,d gS\
(A) eksxsZaFkkÅ
(B) okYV~t
(C) foYlu
(D) mijksDr esa ls dksbZ ugha

89. dkSu&lk igyk cM+k ladV Fkk ftlds dkj.k
varjkZ"Vªh; jktuhfr ,d fo"k; ds :i esa
mHkjh\
(A) Ýkalhlh Økafr
(B) cksY'ksfod Økafr
(C) izFke fo'o ;q)
(D) mijksDr esa ls dksbZ ugha

90. buesa ls 'kfDr larqyu ds rjhds D;k
gSa\
(A) xBca/ku
(B) izfr&xBca/ku
(C) 'kL=hdj.k
(D) mijksDr lHkh
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91. Ever since the seventeenth century, which

ideology has been the foundation stone of

western social, economic, and political systems?

(A) Idealism

(B) Liberalism

(C) Communism

(D) None of the above

92. Who used nationalism in Italy to override

individual self-interest, subjugating the

welfare of the general population to achieve

social goals?

(A) Hitler

(B) Mussolini

(C) Lincoln

(D) None of the above

93. Modern nationalism started in _____ in the

17th century during the Puritan revolution.

(A) France

(B) Germany

(C) England

(D) America

94. Which war erupted due to Nationalism after

the assassination of Franz Ferdinand, the

Archduke of Austria?

(A) Second World War

(B) Cold War

(C) First World War

(D) Korean War

95. Which party hinged on the ideals of the

superiority of the Aryan race and the German

peoples have cultural, intellectual and

militaristic supermacy over all other nations?

(A) Tory

(B) Nazi

(C) Whig

(D) None of the above

91. l=goha 'krkCnh ls dkSu&lh fopkj/kkjk if'peh
lkekftd] vkfFkZd vkSj jktuhfrd O;oLFkk
dh vk/kkjf'kyk jgh gS\
(A) vkn'kZokn
(B) mnkjokn
(C) lkE;okn
(D) mijksDr esa ls dksbZ ugha

92. bVyh esa jk"Vªokn dk bLrseky O;fDrxr LokFkZ
dks [kRe djus] lkekftd y{;ksa dks izkIr
djus ds fy, lkekU; vkcknh ds dY;k.k dks
o'k esa djus ds fy, fdlus fd;k\
(A) fgVyj
(B) eqlksfyuh
(C) fyadu
(D) mijksDr esa ls dksbZ ugha

93. vk/kqfud jk"Vªokn dh 'kq#vkr 17oha 'krkCnh
esa I;wfjVu Økafr ds nkSjku ----- esa gqbZ FkhA
(A) Ýkal
(B) teZuh
(C) baXyS.M
(D) vesfjdk

94. vkWfLVª;k ds vkdZM~;wd Ýkat QfMZusaM dh gR;k
ds ckn jk"Vªokn ds dkj.k dkSu&lk ;q) fNM+
x;k\
(A) f}rh; fo'o ;q)
(B) 'khr ;q)
(C) izFke fo'o ;q)
(D) dksfj;kbZ ;q)

95. vk;Z tkfr dh Js"Brk ds vkn'kksZa ij vkSj
teZu yksx lkaL—frd] ckSf)d vkSj lSU;oknh
opZLo esa vU; lHkh jk"Vªksa ls Åij gSa] ,slk
dkSu&lk ny ekurs Fks\
(A) Vksjh
(B) ukt+h
(C) fOgx
(D) mijksDr esa ls dksbZ ugha

[P.T.O.]
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96. Who has authored the book "Theoretical

Aspects of International Politics"?

(A) Charles Schleicher

(B) Mahendra Kumar

(C) Palmer and Perkins

(D) None of the above

97. Which countries were the original permanent

members of the UN Security Council, the

principal body charged with maintaining

peace in the post-war landscape?

(A) United States, China, France, Soviet

Union, United Kingdom

(B) Germany, Italy, France, Britain, Russia

(C) Canada, Ireland, Russia, Germany, Italy

(D) Japan, Italy, Germany, England, China

98. The term "weapons of mass destruction"

(WMDs) tends to include which of the following?

(A) Nuclear Weapons

(B) Chemical Weapons

(C) Biological Weapons

(D) All of the above

99. The U.S. military maintains three ways to

deliver nuclear weapons to an enemy. What

is this arrangement called?

(A) Nuclear trio

(B) Land-Air Sea concept

(C) Nuclear Triad

(D) Principle of three

100. What is the name of the nuclear doctrine in

which a country pledges not to use nuclear

weapons unless attacked with them

first?

(A) Second Strike Policy

(B) Deterrent only Policy

(C) Massive retaliation

(D) No first use Policy

96. ^^fFk;ksjsfVdy vkLisDV~l vkWQ baVjus'kuy
ikWfyfVDl** iqLrd fdlus fy[kh gS\
(A) pkYlZ 'yhpj
(B) egsanz dqekj
(C) ikej vkSj ifdZUl
(D) mijksDr esa ls dksbZ ugha

97. la;qDr jk"Vª lqj{kk ifj"kn ds ewy LFkk;h
lnL; dkSu&ls ns'k Fks] ftUgsa ;q) ds ckn ds
ifjn`'; esa 'kkafr cuk, j[kus dk dk;Z fn;k
x;k Fkk\
(A) la;qDr jkT; vesfjdk] phu] Ýkal]

lksfo;r la?k] ;wukbVsM fdaxMe
(B) teZuh] bVyh] Ýkal] fczVsu] :l
(C) dukMk] vk;jySaM] :l] teZuh] bVyh
(D) tkiku] bVyh] teZuh] baXySaM] phu

98. fuEufyf[kr esa ls ̂ ^lkewfgd fouk'k ds gfFk;kj**
(WMDs) esa D;k 'kkfey gS\
(A) ijek.kq gfFk;kj
(B) jklk;fud gfFk;kj
(C) tSfod gfFk;kj
(D) mijksDr lHkh

99. vesfjdh lsuk nq'eu dks ijek.kq gfFk;kj
igq¡pkus ds rhu rjhds viukrh gSA bl O;oLFkk
dks D;k dgk tkrk gS\
(A) U;wfDy;j fVª;ks
(B) ySaM&,;j&lh dkalsIV
(C) U;wfDy;j Vªk;M
(D) fizfUliy vkWQ Fkzh

100. ml ijek.kq fl)kUr dk D;k uke gS ftlesa
,d ns'k ijek.kq gfFk;kjksa dk mi;ksx ugha
djus dk opu nsrk gS tc rd fd mu ij
igys geyk u fd;k tk,\
(A) lsadM LVªkbd ikWfylh
(B) MsVjsaV vksuyh ikWfylh
(C) eSflo fjVsfy,'ku
(D) uks QLVZ ;wt ikWfylh
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Rough Work @ jQ dk;Z



Example :

Question :

Q.1

Q.2

Q.3

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigi lator.
Candidate can carry their Question
Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

mnkgj.k %

iz'u %

iz'u 1

iz'u 2

iz'u 3

4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

7. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd

dks viuh OMR Answer Sheet miyC/k djkus

ds ckn gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ

vius lkFk iz'u&iqfLrdk ys tk ldrs gSaA

8. fuxsfVo ekfdZax ugha gSA

9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds
fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A

10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj
Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA
egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
gq, gS aA ;fn iz'uiqfLrdk es a dk sb Z deh gk s] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ys aA

A C D

A D

A C D

B

A C D

A D

A C D

B


